Risolvi le seguenti equivalenze.

143dl = . dal
0,2954 hl = ....ccceuvneeee. I
0,24021 = ..cccvveeee mi
34d = ..o cl
228ml = . cl
80dl = ..covrrn I
0,209cl = . mi
5c = ml
58ml = s cl
05h = i, dal
77Tml = cl
0,379 hl = ..cccvvene dl
0,3905da = ....ccceevenenee, dl
2,89¢l = . ml
2491 = ., h
85¢Cl = e, ml
24.6dal = ......cce..e. I
Ohl = .o, dal
0,4491hl = ....cccocueeeee. dl
0,11 = oo, dl
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4911 cl = o dal
1706 ml = ..o, dal
1580 cl = . hi
2311 = di

1116 ¢l = ., |
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Soluzioni

143dl = 1,43 dd
0,2954 hl = 29,54 |

0,2402| = 240,2 ml

34d = 34d
228 ml = 22,8 cl
80d = 8l

0,109 cl = 1,09 ml
5c¢c = 50ml
58 ml = 5,8l

0,5hl = 5dal

77m = 7,7cl

0,379 hl = 379d

0,3905dal = 39,05dl

2,89cl = 289 ml
2491 = 0,249 hl
8,5cl = 85ml

24,6 dal = 2461
9hl = 90 dal
0,4491 hl = 449,1dl
011 =1d

4911 cl = 4911 dd
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170,6 ml = 0,01706 dal
1580 cl = 0,158 hl
23,11 = 231dl

1116 cl = 11,161
0,4797 | = 47,97 cl
20,2 cl = 2,02dl

4 ml =94cd

4cl = 40ml

2220 ml = 2,221
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